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global u : 0x405040

/* 000000000000 =/ global v : 0x405050
#include <stdio.h> local a : O0x22feec
. local b : 0x22fee8
int u, v; /* global OO */
void main (void) 0411 0ODOOOODODOOO
{

int a, b; /* local OO */

printf ("global u : %p¥n", &u ); /* 0O0O0oooo */

printf ("global v : %p¥n", &v );

printf ("local a : %$p¥n", &a );

printf ("local b : %p¥n", &b );

return 0; /* 000 */
}

0000o0o0ooO0o0oO00o0o0oo0oo0O0oo0o0ooO0ooO0oooooOfprntf0000000 spO
0000000 (@Oo0000)000010000000000000
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000000oooooooooooooooDoODOOO0O0OOObODb490DODO0O000000D0
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int *ptr;
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0000000 +*(asterisk) 0000000000000 0000D0Dptr000000000000O0O0O0OO
goobooboobobobobobobobobobobo4bbUbUObUODbDptrbobDboboooonO
goooooboboobobobobobobooboboobooobooboboon

goooooo 0oooon ip
gooooco
O b - &b [ 0x22fee8
O a - &a ] ox22feec "//"« """"""" uoi
gooooo ip=6&i; oooom
o u - &ul] 0x405040 oooooooooo
- &v [ 0x405050
*p0i0O00O0000000O
gooom
0412 00000 0413 0D000O0OODOD
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ooo i =10
/* ODOoooo  x/ ooo i =20
#include <stdio.h> goooooooo

000 +*ip = 20

int main (void)

{

int i=10; /* 000000000 =/ 0414 DOO0OODODOO
int *ip; /* 000000 */

ip = &i; /* 000000 */

printf ("O OO i = %d¥n", 1 ); /* OO0ood */

*ip = 20; /* 0000 */

printf ("O0O0O i = %d¥n", 1 ); /* 0O00dod */

printf ("O000000000¥n");

printf ("OO0O *ip = %d¥n", *ip ); /* 0000 */

return 0;

go+«=0oboboboooooobobobobobooooboboboboboboobooboboboOon
gbooboobooboooooobobobobobobooboooooobobobobUobOobLbobbob oo
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00000000000000000000000000+*00000000 (indirection reference operator) 0 0 O
oooboooobooooobobobob0obOobDobDobooooobobob4a3000ooobOoO

0000000000000004.12000000000000000100000000000000000
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ip = &i;
ooooo000i0000000000000000printf()000i00000000000010000000
*ip = 20;
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gobooobooooobooboooooooboooooooooboooOoooboOoobbbooobbOooooboOooboo
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41 000000

000413 00000100

/* 000001000000 =/
#include <stdio.h>

int main ( void )

{

char «<d[3]; /* charl */
char *cp = cd; /* 000000 */
short sd[3]; /* shortO */
short *sp = sd; /* 000000 */
int  id[3]; /* intO */
int *ip = id; /* 000000 */
long 1d1[3]; /* longO */
long *1lp = 1d; /* 000000 */
printf ("charOO0O s> %p",cp);

printf (" %$p¥n", ++cp);

printf ("shortOO0O >> %p",sp);

printf (" %p¥n", ++sp);

printf ("int0O0O0 >> %p",ip);

printf (" S$p¥n", ++ip);
printf ("longd OO >> %p",1p);
printf (" S$p¥n", ++1p);
printf ("¥n");
printf ("charOO0O s> %p %p %d¥n",cp,cp+l, (long) (cp+l) - (long) cp) ;
printf ("shortOO0O >> %p %p %d¥n",sp,sp+l, (long) (sp+l) - (long) sp) ;
printf ("intO0O0O >> %$p %p %d¥n",ip,ip+1, (long) (ip+1) - (long) ip) ;
printf ("longO OO >> %p %p %d¥n",lp,lp+1, (long) (1p+1) - (long)lp) ;
return 0;
}
0o00ooo0o0oooooobooobooboooooooooo char0 00 >> 0x22fed8 0x22fed9
short 000 >> 0x22feb8 0x22feba
D0D000415000000char00000000000 SO 00 o oeatess Dasstcon
ox22fedsl 0x22fed90 0000001000000 shortO O long0 OO  >> 0x22fe78 0x22fe7c
00 ox22febs8 0 0x22feba0 000002000000 int00 chor D00 os Oxa2feds Oxaafeda 1
longD00400001000000000000000 short000 >> o0x22feba 0x22febc 2
int000 >> 0x22fe9c 0x22feal 4
000000000000000000000000000 10 longD OO o> Ox22fe7c 0x22£480 4
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(1p+1 - 1lp) * sizeof (long)
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Jgooo0o0ooo00ooDooooooO00iItD0000O0000ODO00DbO0O00b0DODO0O0DOINDO00DODO0O00n
gbob0O0ipo00000000DODO0O0OO0ip1000104p200020000000000000000000OO
goooobooooboooooboooboooobooooboobooo
gobodb4ae0ib0o0oooOooobobo0obb200b0000OO00ObOOOODbODOOODOOOD
goooobooooobo
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